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1
The only graph with all 
vertices of even degree

is C
2.
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C
3.
Check the alternatives  
B
4.
The length of the shortest path is 3+6+4=13  E
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6.
A Hamiltonian Circuit is one which starts and 
finishes at the same vertex but only visits each 
vertex once. The only description that fits this is 
B
7.
A minimum length spanning tree is required. C
8.
The maximum flow can be checked by 
inspection or by finding the minimum cut. 
Which is 10.
B
9.
Sum of the degrees = 1 + 3 + 3 + 3 + 2 = 12  A
10.
The only tree that is possible as it contains all the original vertices and only uses original connections. Note with 5 vertices the spanning tree should have 4 edges.    C
11.
Edges = n - 1, where n is the number of vertices. 
So the required number of edges is 6.
C
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12.
C
13.
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14.

D


15.
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Not correct intercepts.
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Correct intercepts.


Check (0, 0)  
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This matches the graph in D
16.


	x
	y
	x + 2y
	Profit

	5
	18
	5+36
	41

	12
	8·2
	12+16·4
	28·4

	12
	15·2
	12+30·4
	42·4      C

	12
	8·3
	12+16·6
	28·6

	0
	20
	0+40
	40


17.
Total punnets
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Total cost
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C
18.
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Consider the three points:

(0, 0)
0≤ 12
True


(3, 0)
12≤ 12
True


(0, 4)
12≤ 12
True


therefore all three points are in the region.  E
19.
Use the calculator to sketch and then use 
intersect to find the point:
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Intersection point is (8, 0)
D
20.
Use the corner points:

	x
	y
	x + 2y
	Profit

	0
	20
	0+2·4 x 20
	48

	12
	15
	1·8 x 12 + 2·4 x 15
	57·6   D

	15
	0
	1·8 x 15 + 0
	27   


21.
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C

22.
(10, 0)

z = 30

(10, 22)

z = 118

(32, 0)

z = 96


Maximum value of z is 118.
D
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23.
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The true bearing is 125ºT
C
24.
Similar triangles
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D


25.
An equilateral traingle has internal angles of 
60º. So the corect response is   A
26.
Length ratio is  1 :  2


Volume ratio  is 1 :  8


V(shaded) : V(unshaded)  is  1: 7
A
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27.
D

28.
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C
30.
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31.

D
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32.

C
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33.

B
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34.
C
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35.
E
[image: image27.wmf]68

2

15

tan

10

10

15

tan

×

=

´

=

=

x

x

x

o


36.

A
37.
Bearing = 180 º
+27º = 207ºT = S27 ºW C


38.
Check each alternative
D
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39.
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Base = 2 x 2.68


Base = 5·36 m   C
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